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Uise the table to:

1;:; Coloulate the mean of X
() Find the K0 perceniile
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A and B are particle of mass 2kg and 3kg respectively.

—
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IF particle B is in limiting equilibrium on a horizontal wble. Calculate
the coefficient of friction gt the table and the tension in the string.

SECTION B
Answer FIVE guestiong only from this section

(a) Derive the iteration formulabased on the Newton - Raphson Method
for computing the root ol the equation 2X = COSX. (04 marks)
b) Construct a flow chart for the yrocess in (a) above.
Using X, = 0.2 perform a dry yun of your flow chart hence find the
rool correct to 3 dps. (08 marks)
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